5-250

~ ™

o o/

AR FO R R AT (PRSI

1
i}
( )
2. [ ]
-1 N
!
| | |
( ) |
A +
| |
I = e B
[
—T
|
-1
100 150x 10°
)
3.
@
JSA 6202 2
( )
@)
€s eqdHpEE) (D) € s p Es
285-8655 2-4-2

—497-

TEL043-498-3894




Rt

—498-

5-250 TARFRFEOIEER TS (FRI8EIA)
s  Ea (O fo—ouo e e
S 1400 |
-2 =) & 00 |
€ da s £ 1000 |
# ) 800
600
Eea 400
200
" 0 L
) A 0.0
-2 -3
€ (t)‘ £ (e (o T)HE CgaT) € (T} | 600 60
€ (tevTZ) “':: 500 | 10x 10x 40cm ,' 50
(2) * 400 1 40
€ (e} o 3\(/)/‘((?/:?;% ¥
@ e it} 200 1 20
100 {10
-3 1) 0 T Tons te ° o.-o 0.2 0.4 o.; 0.8 °
-4 -5
L 40 5 s
£ | 3 o o
@) é 33 7\3/\(/)/‘((?/:[]5150/0 o oO@:OO %O o
€Tt €L epf a(@(t )} @ %0 s 2F
€ da (x 10-6) € da>o(T) a (T)’ " zz | Y oooo °o? ©
" B [¢]
B (M t S R 4 o
() =2 (T+10 Ay At T to &
10 |
T 2
1 ()@ 05 E, =323 1-exp -364 t, ty O
€ da(T) 262 exp(0.027T) 00 e
a (T) 0477exp(0.083T) B (T) 0.0UT+1.217 ty 0.2 0.0 05 10 15
L
-4 -6
( )
35
-5 NE 0 | E= t2 / 0.091+0.040 t;2 +3.22
~
=
= 5 |
€)) uf 5 |
@ 15 | 30kg/m? WIC=55%
-6 &)
-7 10 | E.=3.23 l-exp -364 1,-02 070
5
1/20 0 :
0 5 10 15 20 25
2 ® .
-7
te 2 Extd 3231 exp{ 364t to)}®™ - ( )
te 2 Eqft) (e 2)/[0.091+0.040(t. 2)]+3.22
Ea (KN/mm?)  t () 02
4.
2 1)
60 pp.593-594 2005 2)
61 2006



